ESXHE T mMmAHR
BF
N Ti HEIR i i3
100m | 110 | 14-%A224 3 —242
200m_| 98 | 13-%12124 3 —242
400m_| 68 9 -4 A 124 3 —242
800m_| 70 6 —1+6 1
1500m | 77 4 —3+4 1
5000m | 28 1
4x100mR| 28 4 —HLIL—2
4x400mR| 25 4 —HLIL—2
Ampk | 12 1
ARk | 39 A-B
— Bk | 21 1
oL | 7 1
Pz | 13 1
R0 | 12 1
fE A 555  UlL— 53 -9 435 4
xF
N Bie | (N VS
100m | 74 | 10-%A2124 3 —2+2
200m_| 59 8~ A 124 3 —2+2
400m_| 27 4 —HABL—2
800m | 44 4 —2+4 1
1500m | 42 3 —sAnL—%
3000m | 17 1
4x100mR| 20 3 —sAHL—%
AEpk | 14 1
ARk | 26 A-B
ot | 7 1
Mgk | 13 1
R0 | 12 1
fHA 335  UlL— 20 - 224 4
fHA 890 YL— 73 SIFSAEL 959 4

F6XE T mAH
BF
NI T3 HEIR iy
100m | 107 | 14-%A224 3 —242
200m_| 90 [ 12-%17224 3 —242
400m | 49 T -5 A 224 3 —242
800m | 57 5 —1+7 1
1500m | 71 4 —3+4 1
5000m_| 45 1
4x100mR| 30 4 —HAHL—2
4x400mR| 21 3 —HALL—%
ek | 16 1
AdEpk | 53 A-B
— BBk | 17 1
fahf | 20 1
P [ 11 1
0P | 17 1
fH N 553 YL— 51 J -9 433 4
xF
NI T3 N AN
100m | 78 | 10-%A224 3 —242
200m | 43 6~ A 124 3 —242
400m | 26 4 —HAHL—2
800m | 32 3 —343 1
1500m | 35 2 —HABL—R
3000m | 17 1
4x100mR| 21 3 —HfLL—%
Ampk | 10 1
AiERk | 36 A-B
fi g | 12 1
MgEE ] 11 1
L0 | 19 1
fHAN 319  VYL— 21 -9 236 4
fHA 872  UL— 72| BN 935 4

F—7FEH B +/110mH28 (44H) . 400mH25(4%H). 3000sc15(1H). = BkT
- F/100mH22 (3%H) . 400mH11(2%H). 4 X 400mR32 (4%H) . #ez Bk, = BBk25




